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Differentiation — Quotients 2

Ly = 3 Find the value of dy when x = 1.

X dx

A(x) = 24 Calculate 4).

Jx
1 ., dy
y= .Find —
Y 4x’ dx
16 dy .
.y = x -—=. Calculate the value of — when x is replaced by 4.
Jx dx
1 : /
f(x) = ¥x -— . Find f/(x).
Jx
Y /
f(x) = /x +7. Calculate £'(4).
f(x) = 4"2' ! Find £(x).
X
Ly = X -22 . Calculate dy when x = 2.
X dx
x* +32 /
Ax) = . Find £'(16).
Jx
2 3
y= X "% Find the value of gy when x = 4.
Jx dx
y=3x’ +£. Calculate ﬁ
3x dx
4
fx) = SX72X Find the value of £/(4).
xvx
y= 10 g &
5Vx X
f(x) = —3\/5 (x Ej .
2 X

(a) Find f'(x).

(b) Show that if f'(x) = 0 then x = 2.



